Chemistry 4311
September 7, 2012
Guiz#l Name:
R=1.987cal K* mol” =8.314 J K" mol = 0.08206 L atm K~ mol™
K="C+273.15
+= 1. Matching
For ¥ =-Cle"* (where C1 and C2 constants), dY/dx = ;{_

&
A~ istested by experiments and represents experiment

Faorce =

An example of extensive property is )

Graham’s Law states that rate of diffusion of a gas
is_= proportional to square root of molar mass
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{h] Mass X Velocity
(c)-C1C2e™™
(d) Model

(e) Inversely
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i) Mass X Acceleration
i) Temperature

2. An adult human being exhales 4.7 X 10° mL of gas mixture with every breath. Caiculate the
number of molecules present in this volume at 37°C and 1.05 atm.
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